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39- My father warned me not to........... my friends who
arenot honest.
1) offend 2) trust 3) remain 4) require

40- Iragisused......... weaponsin theimposed war against
Iran.

1) died 2) dead 3) death 4) deadly
41- Thischapter of thebook isnot worth....... for the exam.
1) study 2) to study 3) studying  4) studied
42-1tis....... todriveat thisspeed at nightswithout lights.

1) defence 2) offence

3) mistake 4) interesting
43- | am sure that most of my students can..... this
experiment.

1) leaveout  2) take out 3) keepout  4) carry out
44- Do you know it ........ over two days to go there by
bus.

1) spends 2) takes 3) consumes  4) needs
45- | need two more employees. Can you......... any body
to me?

1) introduce 2) bring 3) tell 4) suggest
46- Our dean didn’t comewith usbut hewill...... usinthe
near future.

1) invite 2) comeupto 3)join 4) travel

47- | think you should........ the rest of your time to the
lessons which you haven't finished yet.

1) spend 2) use 3) change 4) devote
48-1f you want to...... thetrain, you have to hurry up.

1) take 2) miss

3) catch 4) get

49- When | was a child my older brother had to......... all
the member s of our family.
1) look up 2) look at
3) look for 4) look after
50- One way to interest students in physics is to have
lab......... at school.
1) machines
3) equipment

2) means
4) experiments
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